7/1/21

L.O: | can recognise the place value of a digit

MILD

1. 2 digit number: 23

a. 23-1=

b.23+1=

c. 23-10=

d. 23+10=

2. 2digit number:

a.  —-1=_
b.  +1=__
c. -=-10=__
d  +10=__

3. 2digit number:

a. -=-1=_
b. __ +1=
c. -10-=

d.  +10=



4. 2 digit number:

c. -10-=

d  +10=

5. 2 digit number:

c. -10=

d _ +10=

6. 2 digit number:

c. -10-=

d _ +10=



7/1/21

L.O: | can recognise the place value of a digit

SPICY

1. 3 digit number: 123

a. 123-1-=

b. 123 +1=

c. 123-10=

d. 123+10=

e. 123 +100 =

f. 123-100=

2. 3 digit number:

a. -1=_
b. +1=__

C -10=

d +10=

e.  +100=__

f._ —100=



3. 3 digit number:

c. -10-=

d  +10=

e. +100=

f._ —100=

4. 3 digit number:

c. -=-10=__
d  +10=__
e. +100=__
f. _ -100=__
5. 3digit number:
a. —-1=_

b. +1=



c. -10-=

d  +10=

e. +100=

f._ —100=

6. 3 digit number:

e. +100=

f. _ —100=

7. 3 digit number:

a.  -10-=

b. +10-=

c. ___+100-=

d. __ -100=
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L.O: | can recognise the place value of a digit

HOT

1. 3 digit number: 123

a. 123-1-=

b. 123 +1=

c. 123-10=

d. 123+10=

e. 123 +100 =

f. 123-100=

2. 3 digit number:

a. =-2=_

b. +2=__

C —-20=

d +20=

e._ +200=__

f._ —200=



3. 3 digit number:

c. -—30=

d  +30=

e. +300=

f._ —300=

4. 3 digit number:

c. -=50=

d  +50=

e. +500=

f. _ —500=

5. 3 digit number:



c. -—60=

d  +60=

e. +600=

f. _ —600=

6. 3 digit number:

d  +70=

e. +700=

f. __ —700=

7. 3 digit number:

a. -—-80=

b. +80=

c. __ +800=

d._ —800=



